SOLICITATION	/CONTRACT/ R TO COMPLET					MS	1. REQUISIT	TION N	NUMBER			PAGE	1 OF	47
2. CONTRACT NO.			ECTIVE DATE		R NUMBER	<u>_</u>		5.	SOLICITATION	ON NUMBER		6. SOLICI	TATION ISSU	JE DATE
HDEC04-11-D-0017	7-P00010	13-Jul-201	1					Н	HDEC04-11-R-0009			18-Feb	-2011	
7. FOR SOLICITATION		a. NAME		•				b.	TELEPHONE	ENUMBER (No	Collect Calls)	8. OFFER	DUE DATE	LOCAL TIME
INFORMATION CALL:		ROBERT S	TUYCK					(8		8000 EXT 486		04:00 F	PM 08 Mar	2011
9. ISSUED BY		CODE	HDEC04		10. THIS	ACQUI	SITION IS	;		11. DELIVERY	FOR FOB	12. DIS	COUNT TE	RMS
DEFENSE COMMISS	SARY AGENCY	L			UNR	ESTRIC	TED			DESTINATION				
EQUIPMENT & MAIN		ON			X SET	ASIDE:	100 %	6 FOI	R	BLOCK IS MAF	RKED			
BUILDING P 11200					□∏s	:R				SEE SCH	EDULE			
1300 E AVENUE FORT LEE VA 23801-	1900				\vdash		E 0D		_	13a. THIS	CONTRACT	IS A RAT	ED ORDE	R
FORT LEE VA 23601-	-1800				H	IUBZON	E SB				PAS (15 CFR			
					\vdash	(A)			ľ	13b. RATING				
TEL:						VC-DISA	ABLED VE	T-OV		14. METHOD (DE SOLICITAT	TION		
	00/000				_ E	MERGIN	IG SB						VIDED	
FAX: (804) 734-82	269/8886				SIZE STI	D: 500	NA	AICS:	332618	RFQ	IFB		X RFP	
15. DELIVER TO		CODE			16. ADMI	INISTER	ED BY				CC	DDE		
SEE	SCHEDUL	E					SEE	ΙΤ	EM 9					
		_					U							
17a.CONTRACTOR/C	OFFEROR		CODE 0BG1	4	18a. PAY	/MENT\	WILL BE N	MADE	BY		C	ODE H	Q0131	
WIN-HOLT EQUIPME	NT CORP		<u>-</u>		DFAS-V	VIDE A I	REA WO	RK F	I OW					
JEFF HERBERT	NI COKI .				DFAS -				2011					
141 EILEEN WAY					P.O. BC									
SYOSSET NY 11791-	5302				COLUM	BUS O	H 43236-	9016	6					
		FA	CILITY											
TEL. (516) 222-033	35 EXT. 103	co												
	REMITTANCE IS	DIFFERENT	A ND PLIT		18h SU	IRMIT IN	IVOICES.	TO A	A DDRESS	SHOWN IN I	BLOCK 18a	UNI ES	S BLOCK	
SUCH ADDRES					BELOW			$\prod_{i=1}^{n}$		DENDUM		0.1220		
19. ITEM NO.		20. SCHEDL	LE OF SUPPI	LIES/ SEF	RVICES		2	1. QI	UANTITY	22. UNIT	23. UNIT F	PRICE	24. AMC	UNT
			SEE SCHE	DIIIF										
			OLL OOIIL	DOLL										
25. ACCOUNTING A	ND APPROPRIATI	ON DATA								26. TOTAL	AWARD AMO	DUNT (F	or Gov t. Us	se Only)
												\$	4,107,407	.08
772 9011017474	ON INCORPORAT	ES BV DEEE	RENCE EAD 5	2 212.1	52 212 4	FAD 50	212-3 52	212	5 APE AT	TACHED /	ADDENDA -	ARE [ARE NOT	ATTACHED
Zra. Socionani	ON INCORT ORAT	LO DI KLIL	ILINOL I AIX S	2.212-1.)Z.Z1Z -4 .	1 AN 32	.212-5. 52	2 1 2 -	J AILL AT	IACHED. A	L		AKE NOT	ATTACTIED
27b. CONTRACT	PURCHASE ORD	ER INCORP	ORATES BY R	EFEREN	CE FAR 5	52.212-4	. FAR 52.	212-5	S IS ATTAC	HED.	DDENDA	ARE	ARE NOT	ATTACHED
00 00NTD 40TOD 10	DECLUBED TO C	NON THO DA	OU INVENIT AND	, DETUD	N 0	000	F0 00	414/	4DD 0F 0	ONTRACT DE	FEDENOE		•	
28. CONTRACTOR IS					_	COPI				ONTRACT: RE				
1 1	FICE. CONTRACT OTHERWISE IDEN							1	FER DATE	ט ICLUDING AN			ON SOLICI	
	E TERMS AND CO				IIONAL C	JIILLIS	-	- `	,,	HEREIN, IS AC				HOTTAILE
30a. SIGNATURE O	F OFFEROR/CON	JTRACTOR			31a.1	UNITED	STATES O	F AME	ERICA (S	SIGNATURE OF C	ONTRACTING (OFFICER)	31c. DAT	E SIGNED
Joan Did William Of									,,			- =/		
													13-,71	ul-2011
													1 13.00	WT 5011
			1											
30b. NAME AND TIT	LE OF SIGNER		30c. DATE	SIGNED	31b.	NAME O	F CONTRA	CTING	G OFFICER	(TYPE	OR PRINT)			
(TYPE OR PRINT)					יאד מייף	יים ד ∆ו	ADNIES / C	יםיניוא()י	ACTING OF	יבורבים				
					TKTN	ил ш. В <i>Е</i>	тилью / C	VIN I K	LICILIUS OF	* T/TIV				
					TEL:	(804)	734-8000	EXT	48348	EMAIL: t	rina.barnes@	@deca.mi	1	

SOLICITA	TATION/CONTRACT/ORDER FOR COMMERCIAL ITE (CONTINUED)										PA	AGE 2 OF 47
19. ITEM NO.			20. SCHEDULE OF S	SUPPLIES/ SEI	RVICES	•	21. QUANTI	ΠY 2	22. UNIT	23. UNIT F	RICE	24. AMOUNT
19. ITEM NO.			20. SCHEDULE OF S		RVICES		21. QUANTI	TY 2	22. UNIT	23. UNIT F	RICE	24. AMOUNT
32a. QUANTITY IN	_	-	AS BEEN									
RECEIVED	INSPE	CTED	ACCEPTED, AND CONF	ORMS TO THE	CONTRAC	T, EXCEPT	AS NOTED:					
32b. SIGNATURE C	OF AUTH	HORIZE	D GOVERNMENT	32c. DATE		32d. PRINTED NAME AND TITLE OF AUTHORIZED GOVERNMENT						
REPRESENT.	ATIVE					REPRESENTATIVE						
32e. MAILING ADD	RESS (OF AUTH	HORIZED GOVERNMENT R	EPRESENTATIV	VΕ	32f . TELEF	PHONE NUMBE	ER OF AL	JTHORIZEI	O GOVERNM	ENT REF	PRESENTATIVE
						32g. E-MAI	L OF AUTHORI	IZED GC	VERNMEN	T REPRESE	NTATIVE	
33. SHIP NUMBER		34. VOI	JCHER NUMBER	35. AMOUNT \		36.	PAYMENT				37. CHE	CK NUMBER
PARTIAL	FINAL			CORREC	I FUK		COMPLET	TE F	PARTIAL [FINAL		
38. S/R ACCOUNT		R 39.	S/R VOUCHER NUMBER	40. PAID BY								
			S CORRECT AND PROPER		T 42a. RE	CEIVED BY	(Print)					
41b. SIGNATURE A	ND TITL	E OF C	ERTIFYING OFFICER	41c. DATE								
42b. REC				CEIVED AT	(Location)							
					42c. DA	TE REC'D (YY/MM/DD)	42d. TC	OTAL CONT	AINERS		
				ĺ								

\$0.00

Section SF 1449 - CONTINUATION SHEET

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

0001 CED #2G10, RACK, ROLL-IN MILK

FFP

Base Year: Date of Award - March 31, 2012

FOB: Destination

ESTIMATED \$0.00 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT

QUANTITY 0001AA 216 Each \$688.00 \$148,608.00

CED #2G10-A, (120 GALLON) MILK RACKS

FFP

Base Year: Date of Award - March 31, 2012

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-3926-MC FOB: Destination

> ESTIMATED \$148,608.00 NET AMT

HDEC04-11-D-0017 P00010 Page 4 of 47

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT OUANTITY

0001AB 216 Each \$452.00 \$97,632.00

CED #2G10-B, (80 GALLON) MILK RACK

FFP

Base Year: Date of Award - March 31, 2012

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2727-MC FOB: Destination

ESTIMATED \$97,632.00 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT

QUANTITY 0001AC 15 Each \$575.00

0001AC 15 Each \$575.00 \$8,625.00

CED #2G10-C, (60 GALLON) MILK RACK

FFP

Base Year: Date of Award - March 31, 2012

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2427-MC FOB: Destination

> ESTIMATED \$8,625.00 NET AMT

HDEC04-11-D-0017 P00010 Page 5 of 47

ITEM NO	SUPPLIES/SERVICES	ESTIMATED	UNIT	UNIT PRICE	ESTIMATED AMOUNT
0001AD	Reserved FFP FOB: Destination	QUANTITY 1	Each	\$750.00	\$750.00
				ESTIMATED NET AMT	\$750.00
PSC (CD: 7125				
ITEM NO 0002	SUPPLIES/SERVICES CED #2G08, RACK, ROL FFP Base Year: Date of Award FOB: Destination		UNIT	UNIT PRICE	AMOUNT \$0.00
				NET AMT	\$0.00

HDEC04-11-D-0017 P00010 Page 6 of 47

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY 0002AA 104 Each \$439.00 \$45,656.00

CED #2G08-A, (360 DOZEN) EGG RACK

FFP

Base Year: Date of Award - March 31, 2012

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2538-EG FOB: Destination

ESTIMATED \$45,656.00 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

0002AB 76 Each \$355.00 \$26,980.00

CED #2G08-B, (240 DOZEN) EGG RACK

FFP

Base Year: Date of Award - March 31, 2012

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2526-EG FOB: Destination

> ESTIMATED \$26,980.00 NET AMT

HDEC04-11-D-0017 P00010 Page 7 of 47

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT
0002AC	Reserved FFP FOB: Destination	1	Each	\$750.00	\$750.00
				ESTIMATED	\$750.00

NET AMT

PSC CD: 7125

ITEM NO	SUPPLIES/SERVICES	ESTIMATED	UNIT	UNIT PRICE	ESTIMATED AMOUNT
		QUANTITY			
0003		627	Each	\$750.00	\$470,250.00

CED2G08 & 2G10 Milk & Egg Rack, SHIPPING

FFP

Base Year: Date of Award - March 31, 2012

Prior to placing delivery orders, the Government will contact the vendor for shipping cost for specific location(s). The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill.

FOB: Destination

ESTIMATED \$470,250.00 NET AMT

HDEC04-11-D-0017 P00010 Page 8 of 47

\$0.00

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT

1001

CED #2G10, RACK, ROLL-IN MILK

FFP

Option Year 1: April 1, 2012 - March 31, 2013

QUANTITY

FOB: Destination

ESTIMATED \$0.00 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT

QUANTITY

1001AA 248 Each \$736.70 \$182,701.60

CED #2G10-A, (120 GALLON) MILK RACK

FFP

Option Year 1: April 1, 2012 - March 31, 2013

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-3926-MC FOB: Destination

> ESTIMATED \$182,701.60 NET AMT

HDEC04-11-D-0017 P00010 Page 9 of 47

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

1001AB 191 Each \$492.90 \$94,143.90

CED #2G10-B, (80 GALLON) MILK RACK

FFP

Option Year 1: April 1, 2012 - March 31, 2013

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2727-MC FOB: Destination

ESTIMATED \$94,143.90 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

1001AC 9 Each \$621.16 \$5,590.44

CED #2G10-C, (60 GALLON) MILK RACK

FFP

Option Year 1: April 1, 2012 - March 31, 2013

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2427-MC FOB: Destination

> ESTIMATED \$5,590.44 NET AMT

HDEC04-11-D-0017 P00010 Page 10 of 47

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT
1001AD	Reserved FFP FOB: Destination	1	Each	\$750.00	\$750.00
				ESTIMATED NET AMT	\$750.00
PSC (CD: 7125				
ITEM NO 1002	SUPPLIES/SERVICES CED #2G08, RACK, ROI FFP Option Year 1: April 1, 20 FOB: Destination		UNIT	UNIT PRICE	ESTIMATED AMOUNT \$0.00
				ESTIMATED NET AMT	\$0.00

HDEC04-11-D-0017 P00010 Page 11 of 47

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

1002AA 111 Each \$475.94 \$52,829.34

CED #2G08-A, (360 DOZEN) EGG RACK

FFP

Option Year 1: April 1, 2012 - March 31, 2013

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2538-EG FOB: Destination

ESTIMATED \$52,829.34 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

1002AB 112 Each \$386.90 \$43,332.80

CED #2G08-B, (240 DOZEN) EGG RACK

FFP

Option Year 1: April 1, 2012 - March 31, 2013

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2526-EG FOB: Destination

> ESTIMATED \$43,332.80 NET AMT

HDEC04-11-D-0017 P00010 Page 12 of 47

ITEM NO	SUPPLIES/SERVICES	ESTIMATED	UNIT	UNIT PRICE	ESTIMATED AMOUNT
1002 4 0		QUANTITY	г 1	Ф 7 50 00	Ф 7 50.00
1002AC		1	Each	\$750.00	\$750.00
	Reserved				
	FFP				
	FOB: Destination				
				ESTIMATED	\$750.00

NET AMT

PSC CD: 7125

ITEM NO	SUPPLIES/SERVICES	ESTIMATED OUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT
1003		671	Each	\$750.00	\$503,250.00

CED2G08 & 2G10 Milk & Egg Rack, SHIPPING

FFP

Option Year 1: April 1, 2012 - March 31, 2013

Prior to placing delivery orders, the Government will contact the vendor for shipping cost for specific location(s). The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill.

FOB: Destination

ESTIMATED \$503,250.00 NET AMT

HDEC04-11-D-0017 P00010 Page 13 of 47

\$0.00

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT

2001

CED #2G10, RACK, ROLL-IN MILK

FFP

Option Year 2: April 1, 2013 - March 31, 2014

QUANTITY

FOB: Destination

ESTIMATED \$0.00 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT

QUANTITY

2001AA 207 Each \$722.00 \$149,454.00

CED #2G10-A, (120 GALLON) MILK RACK

FFP

Option Year 2: April 1, 2013 - March 31, 2014

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-3926-MC FOB: Destination

> ESTIMATED \$149,454.00 NET AMT

HDEC04-11-D-0017 P00010 Page 14 of 47

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT OUANTITY

2001AB 184 Each \$475.00 \$87,400.00

CED #2G10-B, (80 GALLON) MILK RACK

FFP

Option Year 2: April 1, 2013 - March 31, 2014

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2727-MC FOB: Destination

ESTIMATED \$87,400.00 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT

QUANTITY
2001AC 10 Each \$604

10 Each \$604.00 \$6,040.00

CED #2G10-C, (60 GALLON) MILK RACK

FFP

Option Year 2: April 1, 2013 - March 31, 2014

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2427-MC FOB: Destination

ESTIMATED \$6,040.00 NET AMT

HDEC04-11-D-0017 P00010 Page 15 of 47

ITEM NO 2001AD	SUPPLIES/SERVICES Reserved FFP FOB: Destination	ESTIMATED QUANTITY 1	UNIT Each	UNIT PRICE \$750.00	ESTIMATED AMOUNT \$750.00
PSC (CD: 7125			ESTIMATED NET AMT	\$750.00
ITEM NO 2002	SUPPLIES/SERVICES CED #2G08, RACK, ROI FFP Option Year 2: April 1, 20 FOB: Destination		UNIT 14	UNIT PRICE	ESTIMATED AMOUNT \$0.00
				ESTIMATED NET AMT	\$0.00

HDEC04-11-D-0017 P00010 Page 16 of 47

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

2002AA 83 Each \$461.00 \$38,263.00

CED #2G08-A, (360 DOZEN) EGG RACK

FFP

Option Year 2: April 1, 2013 - March 31, 2014

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2538-EG FOB: Destination

ESTIMATED \$38,263.00 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

2002AB 83 Each \$373.00 \$30,959.00

CED #2G08-B, (240 DOZEN) EGG RACK

FFP

Option Year 2: April 1, 2013 - March 31, 2014

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2526-EG FOB: Destination

ESTIMATED \$30,959.00

NET AMT

HDEC04-11-D-0017 P00010 Page 17 of 47

\$425,250.00

ITEM NO 2002AC	SUPPLIES/SERVICES Reserved FFP FOB: Destination	ESTIMATED QUANTITY 1	UNIT Each	UNIT PRICE \$750.00	ESTIMATED AMOUNT \$750.00
PSC (CD: 7125			ESTIMATED NET AMT	\$750.00
ITEM NO 2003	SUPPLIES/SERVICES SHIPPING CHARGES FFP Option Year 2: April 1, 20 The vendor will be paid for prepaid freight/shipping by FOB: Destination	or actual shipping c		UNIT PRICE \$750.00 ported by a copy of the	ESTIMATED AMOUNT \$425,250.00
	rod. Desiliation				

ESTIMATED

NET AMT

HDEC04-11-D-0017 P00010 Page 18 of 47

\$0.00

UNIT PRICE ITEM NO SUPPLIES/SERVICES UNIT ESTIMATED AMOUNT **ESTIMATED**

QUANTITY

3001

CED #2G10, RACK, ROLL-IN MILK

Option Year 3: April 1, 2014 - March 31, 2015

FOB: Destination

ESTIMATED \$0.00

NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES **ESTIMATED** UNIT **UNIT PRICE** ESTIMATED AMOUNT

QUANTITY

3001AA

247

\$736.00

Each

\$181,792.00

CED #2G10-A, (120 GALLON) MILK RACK

Option Year 3: April 1, 2014 - March 31, 2015

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-3926-MC FOB: Destination

> **ESTIMATED** \$181,792.00 **NET AMT**

HDEC04-11-D-0017 P00010 Page 19 of 47

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT OUANTITY

3001AB 164 Each \$483.00 \$79,212.00

CED #2G10-B, (80 GALLON) MILK RACK

FFP

Option Year 3: April 1, 2014 - March 31, 2015

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2727-MC FOB: Destination

ESTIMATED \$79,212.00 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

3001AC 27 Each \$615.00 \$16,605.00

CED #2G10-C, (60 GALLON) MILK RACK

FFP

Option Year 3: April 1, 2014 - March 31, 2015

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2427-MC FOB: Destination

> ESTIMATED \$16,605.00 NET AMT

HDEC04-11-D-0017 P00010 Page 20 of 47

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT				
3001AD	Reserved FFP FOB: Destination	20	Each	\$750.00	\$15,000.00				
				ESTIMATED NET AMT	\$15,000.00				
PSC (CD: 7125								
ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT				
3002	\$0.00 CED #2G08, RACK, ROLL-IN EGG FFP Option Year 3: April 1, 2014 - March 31, 2015								
	FOB: Destination								
				ESTIMATED NET AMT	\$0.00				

HDEC04-11-D-0017 P00010 Page 21 of 47

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

3002AA 80 Each \$469.00 \$37,520.00

CED #2G08-A, (360 DOZEN) EGG RACK

FFP

Option Year 3: April 1, 2014 - March 31, 2015

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2538-EG FOB: Destination

ESTIMATED \$37,520.00 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

3002AB 110 Each \$379.00 \$41,690.00

CED #2G08-B, (240 DOZEN) EGG RACK

FFP

Option Year 3: April 1, 2014 - March 31, 2015

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2526-EG FOB: Destination

> ESTIMATED \$41,690.00 NET AMT

HDEC04-11-D-0017 P00010 Page 22 of 47

\$448,500.00

ITEM NO 3002AC	SUPPLIES/SERVICES Reserved FFP FOB: Destination	ESTIMATED QUANTITY 1	UNIT Each	UNIT PRICE \$750.00	ESTIMATED AMOUNT \$750.00
DSC (CD: 7125			ESTIMATED NET AMT	\$750.00
rsc	.D. /123				
ITEM NO 3003	SUPPLIES/SERVICES SHIPPING CHARGES FFP Option Year 3: April 1, 20 The vendor will be paid fo prepaid freight/shipping bit FOB: Destination	r actual shipping c		UNIT PRICE \$750.00 Poorted by a copy of the	ESTIMATED AMOUNT \$448,500.00

ESTIMATED

NET AMT

HDEC04-11-D-0017 P00010 Page 23 of 47

\$0.00

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT

4001

CED #2G10, RACK, ROLL-IN MILK

FFP

Option Year 4: April 1, 2015 - March 31, 2016

QUANTITY

FOB: Destination

ESTIMATED \$0.00 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT

QUANTITY

4001AA 219 Each \$757.00 \$165,783.00

CED #2G10-A, (120 GALLON) MILK RACK

FFP

Option Year 4: April 1, 2015 - March 31, 2016

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-3926-MC FOB: Destination

> ESTIMATED \$165,783.00 NET AMT

HDEC04-11-D-0017 P00010 Page 24 of 47

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY 4001AB 226 Each \$497.00 \$112,322.00

CED #2G10-B, (80 GALLON) MILK RACK

FFP

Option Year 4: April 1, 2015 - March 31, 2016

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2727-MC FOB: Destination

> ESTIMATED \$112,322.00 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY

4001AC 21 Each \$633.00 \$13,293.00

CED #2G10-C, (60 GALLON) MILK RACK

FFP

Option Year 4: April 1, 2015 - March 31, 2016

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2427-MC FOB: Destination

> ESTIMATED \$13,293.00 NET AMT

HDEC04-11-D-0017 P00010 Page 25 of 47

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT
4001AD	Reserved FFP FOB: Destination	1	Each	\$750.00	\$750.00
				ESTIMATED NET AMT	\$750.00
PSC C	CD: 7125				
ITEM NO 4002	SUPPLIES/SERVICES ESTIMATED UNIT QUANTITY CED #2G08, RACK, ROLL-IN EGG FFP Option Year 4: April 1, 2015 - March 31, 2016 FOB: Destination			UNIT PRICE	ESTIMATED AMOUNT \$0.00
				ESTIMATED NET AMT	\$0.00

HDEC04-11-D-0017 P00010 Page 26 of 47

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY 4002AA 99 Each \$483.00 \$47,817.00

CED #2G08-A, (360 DOZEN) EGG RACK

FFP

Option Year 4: April 1, 2015 - March 31, 2016

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2538-EG FOB: Destination

ESTIMATED \$47,817.00 NET AMT

PSC CD: 7125

ITEM NO SUPPLIES/SERVICES ESTIMATED UNIT UNIT PRICE ESTIMATED AMOUNT QUANTITY 4002AB 88 Each \$391.00 \$34,408.00

CED #2G08-B, (240 DOZEN) EGG RACK

FFP

Option Year 4: April 1, 2015 - March 31, 2016

Warranty Information: One year material or workmanship defect

Warranty POC: Customer Service at 516-222-0335

Make: Win-Holt Model: DC-2526-EG FOB: Destination

ESTIMATED \$34,408.00 NET AMT

HDEC04-11-D-0017 P00010 Page 27 of 47

ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT			
4002AC	Reserved FFP FOB: Destination	1	Each	\$750.00	\$750.00			
				ESTIMATED NET AMT	\$750.00			
PSC (CD: 7125							
ITEM NO	SUPPLIES/SERVICES	ESTIMATED QUANTITY	UNIT	UNIT PRICE	ESTIMATED AMOUNT			
4003	SHIPPING CHARGES FFP Option Year 4: April 1, 20	653	Each	\$750.00	\$489,750.00			
	The vendor will be paid for actual shipping charges supported by a copy of the prepaid freight/shipping bill.							
	FOB: Destination							
				ESTIMATED NET AMT	\$489,750.00			
PSC (CD: 7125							